1-2 Exercises Key

1. From the equations, you can see whether the graph of the
parent function will be shifted up or down, reflected over
an axis, or stretched or compressed to create the graph of
the new function.

2. g(x) = fix) + k is a vertical translation k units, so the output
of the function is affected. g{x) = f {x — h) is a horizontal
translation h units, so the input of the function is affected.

3. g{x) is a horizontal translation of f (x) left 1 unit, not right 1 unit,
because h < 0.
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14. The student

Veertical and horizontal translations and reflections do not
change the shape of a graph. Stretches and compressions
change the shape of a graph because they affect the
steepness of the graph.
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15. Multiplying the y-values of the points on

16.

17.

the graph of f by 4 results in points on

the graph of g. 5o, glx) is a vertical stretch
of fx) by a scale factor of 4 and can be
written as g (x) = 4lx|. Dividing the x-values
of the points on the graph of f also results

in points on the graph of g . S0 glx) is

& horizental compression of fix) by a
scale factor of 4 and can be written as
glx) = |4x|. A vertical stretch is the same
as a horizontal comprassion in this case.

glx) = f{-x) = (" = (9% The graph of
gix) is the same as the graph of F (x ).

gix) = |2x — 4| is equivalent to

glx) = 2 — 2|. 50, glx} is & horizontal
translation of fix) right 2 units and a
vertical stretch of flx) by a factor of 2.

24-32. See back of book.
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20.

The domain values of f and g are the
same, but the range values of g are
5 units less than the range values of f.
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The range values of f and g are the
same, but the domain values of g are
1 unit less than the domain values of
f at corresponding range values.
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The range values of f and g are the

same, but the domain values of g are

3 units greater than the domain values
of f at corresponding range values.



21.

The domain values of f and g are the
same, but the range values of g are

2 units greater than the range values
of f.






29, translation left 1 unit and then vertical
stretch by a factor of 2

30. translation right 3 units and then
translation up 5 units

F1. reflection across the x-axizs and then
translation down 6 units

32, translation right 7 units, tfranslation down
9 units, and then vertical stretch by a factor

of 4
34, a. fix) = |«
b. gix) = 2.5/x]

35 y=—(x— 12+ 1;(1, 1)
38. Part Aglx) = — 1.22x— 177/ + 216

Part B domain: 0 < x = 35.4; range:

0= y=< 21.5; The domain represents the
width of the pyramid, which is 35.4 m
wide. The range represents the height of
the pyramid, which is 21.6 m high.
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